Efficiency vs dr

1.2

=

0.8

efficiency vs AR

0.6

0.4

0.2

o 0k H T :{:::;:iﬁ HINHHHE
=1 r —s— ../.JCMSSW_12_4 _0_pre3/src/DQM_V0001_R000000001__Global__mkFit_batchCAND-adjusted
g N —e— ../.ICMSSW_12_4_0_pre3/src/DQM_V0001_R000000001__Global__mkFit_CAND

14 V0001_R000000001__Global__mkFit_CAND-AFTERCONFLICT2

[ Effici

ency vs dr (track,jet) |

-1

1
TP min AR

§0.02

20.018F
E E
1.016f
9.014F
> C
9.012F
o r
o

2 0.01F
() r
0.008F
0.006F
0.004F

0.002

1072

1
AR(TP, jét)

-1

......

......

T
I
T

09362530 35 40 45 50 55




	Contents
	Page 1


